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68 @:6�	 
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MIL (Compulsory Course) 

 
����� 

Semester  MIL Course  

(Compulsory) 

Title of the paper Credits 
(Per Semester 

03) 

Lectures 
(Each lecture 

of 60 mins.) 

I MIL 1A 
3(��� 9(2 
$�<�$��6�*� 

H�(43 3>/?�	 
 

3(��� 9(2 $:(;� 
$�<�$��6�*� 7	=� 3>/?�	 

 

03 45 

II MIL 1B 
3(��� 9(2 
$�<�$��6�*� 

H�(43 3>/?�	 
 

3(��� 9(2 A�B� 
$�<�$��6�*� 7	=� � 6���@ 

3>/?�	 
 

03 45 
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• �J��6K$�L� �0(/&M	 � $हNN� -  
1. 6@� �J��6K$ 3(��� �� ��O�P3���L� Q-= 3R� @	S��T��T�L 

$�<�$��6�*� 9�U�3 7	=� 3>/?���L�ह� �(�L� 3R� @	2��� 9ह	. 
2. @�Vह� 68����7 �J��6K$���� T(ह2�T�W L>X�� ���Y�� (��Z3 3(��� �J��62	 

��	(1� 9ह	.  
3. T(ह2�T�W L>X�� ���Y�� 3(����$X�� /	��, /	�3��, (�6.5, $���� ,��� � $� 

���(�4�� B�[ \�7	7	 ]L�� (�)�^�_��̀� ��हL��	 ह� ��$�.�7 ह	�� 9ह	.  
4. $�<�$��6�*� 7	=� 3>/?���L� (�L�� 3����� $:(;� $�<�$���� �	a	 71 3b (;� 

3	 7	7	 9ह	. 
5. �c#�8 �� $:(;� $�<�$�L� (�)�^�_�� �(�L� Bह���, �� $�<�$�6�*� 9�U�3 

7	=��Y�� (�(�X P3����L	 d�R� � ��8 ���L� �(�L� 3R� @	2��� 6@� �J��6K$ 
9ह	. 

6. �H���2� �� A�B� $�<�$�L� (�)�^�_�� �(�L� 3R� @	2���, �6	L �� 
$�<�$�6�*� 9�U�3 7	=��Y�� � 6���@�Y�� (�(�X P3����L	 d�R� � ��8 ���L� 
�(�L� 3R� @	2��� 6@� �J��6K$ 9ह	.   

  

MIL 1 – 3(��� 9(2 $�<�$��6�*� H�(43 3>/?�	 
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68 �(ह7	 
MIL 1 A – 3(��� 9(2 $:(;� $�<�$��6�*� 7	=� 3>/?�	 

  
• �J��6K$�L� "(ef	 –  

1. T(ह2�T�W L>X�� ���Y�� (��Z3 3(����Y�� 9/��L� � �(HB�[�L� �0(/&M	 
,�2�� घ	2	. 

2. �c#�8 �� $:(;� $�<�$�L� (�/	4 �(�L� 3R� घ	2	. N��L� ".$ � (�3�6 ���(�4�� 
9(2 6�56�X��2 d�R��(�4�� ,�2�� घ	2	. 

3. �c#�8 �� $:(;� $�<�$�L	 3��5 9(2 N��L� "��:[�� 6$,���� घ	2	. 
4. �c#�8 �� $:(;� $�<�$�6�*� 3�����Y�� T��$� 7	=��L	 d�R� � ��8 ,�2�� घ	2	. 
5. �c#�8 �� $:(;� $�<�$�6�*� 3�����Y�� (�(�X �c#7	= 7	=��L	 d�R� � ��8 

,�2�� घ	2	. 
6. �c#�8 �� $:(;�$�<�$�6�*� 3�����Y�� d��H �� 6@� 7	=��L	 d�R� � ��8 ,�2�� 

घ	2	. 

 
  

MIL 1 – 3(��� 9(2 $�<�$��6�*� H�(43 3>/?�	 
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3 (�n	42 –    
o3� 2 ��� (03) A	���3 

 
 

K$ 
 

 
घ
3 

 
A	���3 

 
��(63� 

(घp�-�) 
 

 3(���   
1. ‘T(ह2�WL� .�2�’ (6:(L8� P3�/�, $:�TW. �*���� 9�c#� 

: 2016) �� �:d�3���7 T(ह2�T�W L>X�� ���Y�� �:s�7 
(��Z3 3(��� - 

• ‘6�6��’ 
• ‘$�t�� ,���’ 
• ‘7�	 3�$�L� �	=�’ 
• ‘(ह����L� @	�� घ	��’ 
• ‘$�
 ह�37�� o3’ 

 

 

 

01 

 

 

 

15 

$:(;� $�<�$��6�*� 7	=� 3>/?�	   

2. �) $:(;� $�<�$	 : d�R� � �(�L� 
• �c#�8 �� $:(;� $�<�$�L� (�/	4 �(�L� 

(�c#�8��L� ".$ � (�3�6 ���L� 6�(1v 9s���) 
• �c#�8�Y�� 6�56�X��2 d�R��L� $�(ह�� 

(�c#�8�L	 ��,L	 d�R� � w�7�x� @0(�3��L� 
�(�L�) 

• �c#�8��L	 3��5, N���L� "��:[�� 9(2 *-3 
�0(/&M	 

 

 

 

01 

 

 

 

15 

3.     �) �c#�8�6�*� 7	=� 3>/?�	 
• T��$� 7	=� : d�R� � ��8 

(T��$�L	 d�R�, T��$�L� �L��, T��$�L� H�4� 
9(2 T��$� 7	=��L	 ��8) 

• (�(�X (�4������7 �c#7	= 7	=� : d�R� � ��8 
(d�R�, �L�� 9(2 ��8) 

• d��H �� 6@� 7	=� : d�R� � ��8 (d�R�, �L�� 
� ��8) 

 

 

01 

 

 

15 

 o3� 2 A	���3 � ��(63� 03 45 
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68 @:6�	 
MIL 1 B – 3(��� 9(2 A�B� $�<�$��6�*� 7	=� � 6���@ 3>/?�	 

 
• �J��6K$�L� "(ef	 –  

1. T(ह2�T�W L>X�� ���Y�� (��Z3 3(����Y�� 9/��L� � �(HB�[�L� �0(/&M	 
,�2�� घ	2	. 

2. �H���2� �� A�B� $�<�$�L� (�/	4 �(�L� 3R� घ	2	. N��L� ".$ � (�3�6 
���(�4�� 9(2 6�56�X��2 d�R��(�4�� ,�2�� घ	2	. 

3. �H���2� �� A�B� $�<�$�L	 3��5 9(2 N��L� "��:[�� 6$,���� घ	2	. 
4. �H���2� �� A�B� $�<�$���� 3�����Y�� H�42�Y�� 7	=��L	 d�R� � ��8 

,�2�� घ	2	. 

5. �H���2� �� A�B� $�<�$�6�*� 3�����Y�� �ु(�3� 7	=��L	 d�R� � ��8 ,�2�� 
घ	2	. 

6. 93�/��2� 9(2 =�,.� �H���2� ��(हV�� �� A�B� $�<�$��6�*� 3�����Y�� 
(��	@��L	 d�R� � ��8 ,�2�� घ	2	. 

  

 
  

MIL 1 – 3(��� 9(2 $�<�$��6�*� H�(43 3>/?�	 
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घ
3 (�n	42 –    
o3� 2 ��� (03) A	���3 

 
 

K$ 
 

 
घ
3 

 
A	���3 

 
��(63� 

(घp�-�) 
 

 3(���   
1.  ‘T(ह2�WL� .�2�’ (6:(L8� P3�/�, $:�TW. �*���� 

9�c#� : 2016) �� �:d�3���7 T(ह2�T�W L>X�� ���Y�� 
�:s�7 (��Z3 3(��� - 

• ‘$�’ 
• ‘@	� �,T .���Z�’ 
• ‘��.� 9(2 6�6:���/�2’ 
• ‘$�2�6’ 
• ‘=�z��$X� =���’ 

 

 

 

01 

 

 

 

15 

 A�B� $�<�$��6�*� 7	=� � 6���@ 3>/?�	   

2. �) A�B� $�<�$	 : d�R� � �(�L� 
• �H���2� �� A�B� $�<�$�L� (�/	4 �(�L� 

(�H���2� ".$ � (�3�6 ���L� 6�(1v 9s���) 
• �H���2�Y�� 3�$3�,�Y�� 6�56�X��2 

d�R��L� $�(ह�� (93�/��2�L	 ��,Y�� 
3�$�L	 d�R� � =�,.� �H���2� ��(हV���L� 
(FM Radio) �(�L�) 

• �H���2�L	 3��5, �H���2�L� "��:[�� 9(2 
*-3 �0(/&M	 

 

 

 

01 

 

 

 

15 

3.     �) �H���2�6�*� 7	=� � 6���@ 3>/?�	 
• H�42 7	=� : d�R� � ��8 

(H�42�L	 d�R�, H�42�L� �L��, H�42�L� 
H�4� 9(2 H�42 7	=��L	 ��8)  

• �ु(�3�7	=� : d�R� � ��8 (d�R�, �L�� 
9(2 ��8) 

• 93�/��2� � =�,.� �H���2� ��(हV���6�*� 
(��	@� 3>/?� : d�R� � ��8 

 

 

01 

 

 

15 

 o3� 2 A	���3 � ��(63� 03 45 
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     6�@H56�(हN� – 

1. T(ह2�T�WL� .�2� – }�� (�8	, $ह���&' ���� 6�(हN� 6�d3c �� $�Z-, $:�TW. 

2. H����� 6�(हN��L	 (�$~�	 - T(ह2�T�W L>X�� – P3�/ 6�3�-	 , 6�(हN� 
�3�@	$�, ��� (@��. 

3. T(ह2�WL� .�2� : o3 �J��6 – P($7� (H�Z, B��3
	/, ,-.��. 

4. (�6.53V�� T(ह2�T�W L>X��  -  6. .. ��@� 

5. T(ह2�T�W – x�;(,� H�7	��� 

6. T(ह2�T�W�L� 3(��� : o3 ]L�� -�	ह7�� L>X�� 

7. (�6.53V�� T(ह2�T�W L>X�� ���L� 3(��� -�	=� ,.��-	  
8. ‘93��1�’ – T(ह2�T�W L>X�� (�/	4��3, ��2� 6T��	, ��.���. 

9. Pd����� – PH�3� T�.7	, =��@	/L� 3�B�X���, 6���. o�. ,�. 6���2	 � �V�, 

P/���, ,-.��. 

10. T(ह2�T�W�L� 3(��� 9(2 $��*� 3(��� (7	=) – @. ��. H�67	, 3(���-���, 
(@��-� 2013, �c. 67-80. 

11. B���ह�(�3 $��*� – 7. ��. �(/��T�@3�, �Z3	 , 3�?ह����. 

12. $:(;� $�<�$��6�*� 7	=� 3>/?�	–��2 =��	, �/������ LBह�2 $ह���&' $:[ 
(�)���*, ��(/3. 

13. $�<�$��L� H�4� 9(2 7	=� 3>/?� – 3	 /� �:�	, (LV$�, ���.�T�@. 

14. $��*� �c#�8��L� x(�ह�6 – ��. 3	 . 7	7	, 3��V
�	V
7, �:2	. 

15. �c#�8 7	=� : ��8 9(2 $�8 – 6:X�� ��]/.3�, "N345, �:2	. 

16. �83����6�*� $��*� – T�. .�. .:,5�, 7. ��. .�=7	, 30 . T�T�6�ह	T घ���Z	 �c#�8 
PT�(X��, �:2	. 

17. L>�	 � =�Z 1 �	 5, $�X� .Z3��, A�(�)�, �:2	. 

18. $�(ह�� �:.�Y�� "�T����� (7	=) – �1� (@��-� ��3 2000, 6���. (�(=7 ��.-	 , 
�c. 68-108. 

19. 6:.$ $��*� B��3�2 � 7	=� – $�. ��. ��-�T	, (����, �:2	. 

20. B���ह�(�3 $��*� – 6���. 6��,���� $�3�/�, ��,�� �	$�Z	 , /	�3�� 6�(हN� x�,3 

(�(�4@), T���$��. 

21. B���ह�(�3 $��*� – �	ह7 ����	, �	ह�X5�, �:2	. 

22. B���ह�(�3 $��*� – 6���. @. (@. �:�Z	 , 3?��2 3�-	 , (���7�, �:2	. 

23. "���(,� $��*� – 6���. �. ��. ��=	Z	 , $ह���&' (�)���* ��a(��$�� $�Z-, ��.���. 

24. "���(,� $��*� – P3�/ $	@33�, (�)� T:�6, ���.�T�@. 

25. B���ह�(�3 $��*� – 7�7� .�(�73�, �	ह�X5�, �:2	. 

26. B���ह�(�3 $��*� – P3�/ ��T, ($a:�, $:�TW. 
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27. 3��~7��� 3>/?�	 – �1� घ���Z	 , �a�5, ,-.��. 

28. "���(,� $��*� H�. o3 – PH�3� ,�/�, ��6:@	� �7	, P/���, ,-.��. 

29. "���(,� $��*� – PH�3� ,�/�, (3/�� ��
�7, P/���, ,-.��. 

30. "���(,� $��*� : 7	=� � 6���@ 3>/?���L� �(�L� – 6N�(,� 6�-�	, @��3 
����, �a�5, ,-.��. 

31. �(����5 $��*� – 6���. ,�V6� T�,65, Z��$�Z, �:2	. 

32. "���(,� $��*� – 6���. 3	 �3� $�Z3 � �V�, ��.�X�, �:2	. 

33. �H���2� 3��5K$ : ��8 9(2 $�8 – �:&�� 3�2	, x�(Z�� T:3 3� ���, �:2	. 

34. ��-A�B� $�<�$��6�*� 7	=� 3>/?�	 – �/������ LBह�2 $ह���&' $:[ 
(�)���*, ��(/3. 

35. �H���2� – H�7L�; ,�/�, �/������ LBह�2 $ह���&' $:[ (�)���*, ��(/3. 

36. H�4�6���@ – �(�7 .�-�, ��@3: $�� $��	, 6���, �:2	. 

37. 6���@/�d8 – A���@ ,�/�, (�,�, ��.���. 

38. 6���@�L� $�7�NN�	 – A���@ H�7L�; ,�/�, �/������ LBह�2 $ह���&' $:[ 
(�)���*, ��(/3. 

39. B��6��* – $ह�@	� ��-:�,, �1�$���, �:2	. 

40. PH��� H�4237� – ���; @	6�W, P�: ���, �:2	. 

 

�� – 

1. PN�	3 (�)�^�~L	 $�?�$��� o3� 2 /�H� .:2��$<�	 ह�W7. N��� 6�* .:2��L� 
(�)���* ���1� ह�W7 9(2 L�-�6 .:2 ���.5� $�?�$����6�*� �6��7. 

2. ���.5� $�?�$����Y�� L�-�6 .:2��L� (�H�.2� �:s�7P$�2	–  
� (�)�^�~L� ��(63���� ह,	��– 10 .:2, (�)�^�~L	 ��5�– 10 .:2 9(2 o3 

L�L2�–20 .:2 
 

P��(83	 L	 d�R� 

P� K. 1  P���L	 d�R� .:2 
�) ���� ��~� (��Z�. (9*�03� 6ह�) 06 
T) o3� ������ "#�	 (7ह�. (9*�03� 6ह�) 06 

P� K. 2 a�Z���� "#�	 (7ह�. (L���03� ���) 12 
P� K. 3 a�Z���� "#�	 (7ह�. (��L�03� L��) 12 
P� K. 4 @�घ�#�� P� (@���03� o3) 12 
P� K. 5 
��� (7ह�. (����03� @��) 12 

 o3� 2 .:2 60 
 


